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#include<iostream>
using namespace std;
char* POP_A(char*d){
char* p=d;
for(;* p;pt++)*p="(p+1);
return d;

}

char* POP_B(char*d){
char* p=d;
while(* p)p++;
*(p-D)=0,
return d;

int main(){
char d[1024];
cin>>d;
POP_A(d);
cout<<d<<endl;
POP_A(d);
cout<<d<<end!;
POP_B(d);
cout<<d<<end!;
POP_B(d);
cout<<d<<endl;
return O;
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#include <iostream>
using namespace std;
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char *POP_A(char *d){ I THBR 5 £ T A 55— 57T

char *p=d,
for(;*p; p++){
*p=*(p+1);

return d;
}

char *POP_B(char *d){ // &5 &1 EHY S —{E 7T
char *p=d;
while(*p) p++;
*(p-1)=0;
return d;

}

int main(){
char d[1024];
cin>>d;
POP_A(d);
cout << d << endl;
POP_A(d);
cout << d << endl;
POP_B(d);
cout << d << endl;
POP_B(d);
cout << d << endl;

I N 2R T | CHHAR N S e j:". @9 (254)
#include <iostream>
using std::cout;
using std::endl;

int main()

{
int a[10][20][30][40];
cout<<"a="<<g5][5]-a[0][O]<<end;
cout<<"b="<<& g 5][5]-& a 0][ O] <<end!;
cout<<"c="<<g[5]-a O] <<endl;

:
a=3150
b=105
¢c=100

#include <iostream>
using std::cout;
using std::endl;

int main(){
int a[10][20][30][40];
cout << "a=" << a[5][5]-a[0][0] << endl;

=~
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(5-0)* (20* 30)+(5-0)*30=3150

-2



| 1065% - 5EAK |- Bttt

cout << "b=" << &g[5][5]-& 4 0][0] << end!; 1 (5-0)*20+(5-0)*1=105
cout << "c=" << g5]-g[0] << endl; 1 (5-0)*20=100

}

Z T ACHAENH TR BRASBNCiEA B 0 ? (254)
int F2(int &f, int 1) {
int sum=(f1 + f++);
return sum;
}
void F1(int &a, int b, int* ¢) {
for (inti=a, j=b; j>=0; i++, j--) {
if (c[j]%2==0)
cli]=F2(a, b);
ese
cli]=F2(b, a);

}

void main() {
int A=5, B=3, C[4]={1,4,7,6};
F1(A, B, O);
system("pause");

7
3
Chdiml {11, 10,9, 8}
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#include <iostream>
using namespace std;

int F2(int &f, int f1){ Il E£—2:85 cal by reference, 55 — 8 call by value
int sum = (f1+f++);
return sum;

}

void F1(int &a, int b, int *c){ Il F5—2:8 cal by reference, 55— 2% call by value, 3£ =22%f call by
address

for(int i=a, j=b; j>=0; i++, j--){
if(c[j]%2==0)
c[j]=F2(ab);
else
c[j]=F2(b,a);

}

int main(){
int A=5, B=3, C[4]={1,4,7,6};
F1(A, B, C);

}
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void swap_ref(int &a, int &b) {
int temp;
temp=a;
a=b;
b=temp;

}
void swap(int a, int b) {
int temp;
swap_ref(a, b);
temp=g;
a=b;
b=temp;
}
void main() {
int Vaue=5, list[3]={1,2,3};
swap(Vauetlist[2]++, ++ist[0]);
swap_ref(list[0], ++list[2]);

:
Vadue: 5
listfefim1): {5, 2, 2}

#include <iostream>
using namespace std;

void swap_ref(int &a, int &b){ I call by reference
int temp;
temp=a;
a=b;
b=temp;
}

void swap(int a, int b){ // cal by value
int temp;
swap_ref(a,b);
temp=a;
a=b;
b=temp;
}

int main(){
int Value=5, list[3]={1,2,3};
swap(Vauetlist[2]++, ++list[0]);
swap_ref(list[0], ++Hist[2]);
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